
TEST TASKS

1. Specify the conditions under which the chemical process is fundamentally feasible
at temperature T and pressure P, if  ΔG298=vi (G298)formation· i:

A) ΔGT,P <1;
B) at ΔGT,P >0; 
C) for ΔGT,P = 1; 
D) 0>GT,P <1;
E) for ΔGT,P< 0.

2. The reaction system is in thermodynamic equilibrium if the Gibbs energy change
is:

A) ΔGT,P <0;
B) ΔGT,P <0;
C) ΔGT,P =0;
D) 0ΔGT,P <1;
E) ΔGT,P<1.

3. The reaction equation: νAA + νBB + ... = νRR + νsS + ... + Qр, - represents:
A) the equation of the exothermic reaction;
B) the equation of the endothermic reaction;
B) the stoichiometric reaction equation;
D) chemical reaction equation;
D) non-stoichiometric reaction equation.

4.  The  thermal  effect  of  the  chemical  process  qp  depends  on  the  amount  of  the
converted substance ΔN. According to the thermochemical equation of a chemical reaction:

vAA + vBB + ... = vRR + vsS + ... + Qр, the thermal effect corresponds to the formula:
A) qp= NA/ Qp;

B) qp=QpNA;

C) qp=QpNRNA;
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